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Direction:

Study the following information carefully and answer the questions given below.

Ten persons are sitting in two parallel rows containing five persons each in such a way that there is an equal
distance between adjacent persons. In the first row, G, H, J, K and L are seated and all of them are facing south. In
the 2nd row, U, V, W, X and Y are seated and all of them are facing north. Therefore, in the given seating
arrangement, each member seated in a row faces another member of the other row. X sits third to the left of U. G
faces an immediate neighbour of X. J sits second to the right of G. Only one person sits between H and K. V and Y

are immediate neighbours. Y does not face G and H.

e Question No.1
How many persons are seated between H and L?
Options:

1.One
2.None
3. Two
4. Three

5. None of these
Answer : Two

Direction:

Study the following information car efully and answer the questions given below.

Ten persons are sitting in two parallel rows containing five persons each in such a way that there is an equal
distance between adjacent persons. In the first row, G, H, J, K and L are seated and all of them are facing south. In
the 2nd row, U, V, W, X and Y are seated and all of them are facing north. Therefore, in the given seating
arrangement, each member seated in a row faces another member of the other row. X sits third to the left of U. G
faces an immediate neighbour of X. J sits second to the right of G. Only one person sits between Hand K. V and Y

are immediate neighbours. Y does not face G and H.

e Question No. 2
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Who amongst the following faces K?
Options:

1. W
2.Y
3.X
4.U

5V
Answer:Y

Direction:

Study the following information carefully and answer the questions given below.

Ten persons are sitting in two parallel rows containing five persons each in such a way that there is an equal
distance between adjacent persons. In the first row, G, H, J, K and L are seated and all of them are facing south. In
the 2nd row, U, V, W, X and Y are seated and all of them are facing north. Therefore, in the given seating
arrangement, each member seated in a row faces another member of the other row. X sits third to the left of U. G
faces an immediate neighbour of X. J sits second to the right of G. Only one person sits between Hand K. V and Y

are immediate neighbours. Y does not face G and H.
Question No. 3
Which of the following is true regarding V?

Options:

1. U and W are immediate neighbours of V.

2. L is an immediate neighbour of the person who is facing V.
3.V sits at one of the extreme ends of the line.

4. X sits on the immediate left of V.

5. None of these
Answer : X sits on the immediate left of V.

Direction:
Study the following information carefully and answer the questions given below.
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Ten persons are sitting in two parallel rows containing five persons each in such a way that there is an equal
distance between adjacent persons. In the first row, G, H, J, K and L are seated and all of them are facing south. In
the 2nd row, U, V, W, X and Y are seated and all of them are facing north. Therefore, in the given seating
arrangement, each member seated in a row faces another member of the other row. X sits third to the left of U. G
faces an immediate neighbour of X. J sits second to the right of G. Only one person sits between Hand K. V and Y

are immediate neighbours. Y does not face G and H.

Question No. 4
Who amongst the following are sitting exactly in the middle of the rows?
Options:

1. GandY
2.Kand U
3.Kand X
4.Uand)J

5.Gand V
Answer: Gand V

Direction:
Study the following information carefully and answer the questions given below.

Ten persons are sitting in two parallel rows containing five persons each in such a way that there is an equal
distance between adjacent persons. In the first row, G, H, J, K and L are seated and all of them are facing south. In
the 2nd row, U, V, W, X and Y are seated and all of them are facing north. Therefore, in the given seating
arrangement, each member seated in a row faces another member of the other row. X sits third to the left of U. G

faces an immediate neighbour of X. J sits second to the right of G. Only one person sits between H and K. V and Y

are immediate neighbours. Y does not face G and H.

Question No. 5

Four of the following five are alike in a certain way and thus form a group. Which is the one that does not belong

to that group?
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Options:

1)
2.W
3.K
4.1

5.U
Answer : K

Direction:

In each of the questions below ar e given some statements followed by some conclusions. You have to take the given
statementsto betrue even if they seem to be at variance with commonly known facts. Read all the conclusions and
then decide which of the given conclusionslogically follows from the given statements disregar ding commonly
known facts.

Question No. 6

Statements: All Saturn are Pearl .

All Pearl are Saturday .

No Saturn is Mercury.

Conclusions: I. Only a few Mercury being Saturday is a possibility.
Il. Only a few Saturday is Mercury.

Options:

1. None follows

2. Only | follows

3. Only Il follows

4. Both I and Il follow

5. Either | or Il follows
Answer : Only | follows

Direction:

In each of the questions below ar e given some statements followed by some conclusions. You haveto take the given
statementsto betrue even if they seem to be at variance with commonly known facts. Read all the conclusions and
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then decide which of the given conclusionslogically follows from the given statements disregarding commonly
known facts.

Question No. 7

Statements: All post are pluto.
All pluto are space.

Only a few key are pluto.
Conclusions: I. Some key is space .
IIl. No key are space.

Options:

1. Only | follows

2. None follows
3.Only Il follows

4. Both I and Il follow

5. Either | or Il follows
Answer : Only | follows

Direction:

In each of the questions below ar e given some statements followed by some conclusions. You haveto take the given
statementsto betrue even if they seem to be at variance with commonly known facts. Read all the conclusions and
then decide which of the given conclusionslogically follows from the given statements disregarding commonly
known facts.

Question No. 8

Statements: No wire is sky .

Only a few sky are bulb .

Only a few bulb is fire .
Conclusions: I. Some sky are fire .

Il. Some wire can never be bulb.
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Options:

1. Both I and Il follow
2. Only | follows
3. Only Il follows
4. None follows

5. None of these
Answer : None follows

Direction:

In each of the questions below ar e given some statements followed by some conclusions. You have to take the given
statementsto betrue even if they seem to be at variance with commonly known facts. Read all the conclusions and
then decide which of the given conclusionslogically follows from the given statements disregar ding commonly
known facts.

Question No. 9

Statements:
No bear is bull.
All cave are bull.

Only a few bull are den.

Conclusions:

I. Some den can be cave.
I1. Some bear can be den.
Options:

1. Either | or Il follows
2. None follows
3.Only | follows
4. Both | and Il follow

5. Only Il follows

Answer : Both | and Il follow
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Direction:
Read the information carefully and answer the questions:

Seven persons H, J, K, L, M, N and O have weekly off on different days of the week starting from Sunday to

Saturday in such a way that only one person has holiday only on one day but not necessary in the same order.

K neither have off just after nor just before H. L neither has weekly off on the first nor on the last day of the week.
Equal number of persons are having off before and after H. No one have off before M. Number of persons having off

between M and K is same as between N and L. K does not have off before J. O does not have weekly off before J.
Question No. 10
K has off on which of the following day?

Options:

1. Tuesday

2. Monday

3. Thursday

4. Wednesday

5. None of these
Answer : None of these

Direction:
Read the information carefully and answer the questions:

Seven persons H, J, K, L, M, N and O have weekly off on different days of the week starting from Sunday to

Saturday in such a way that only one person has holiday only on one day but not necessary in the same order.

K neither have off just after nor just before H. L neither has weekly off on the first nor on the last day of the week.
Equal number of persons are having off before and after H. No one have off before M. Number of persons having off
between M and K is same as between N and L. K does not have off before J. O does not have weekly off before J.

Question No. 11

Which of the following persons has off on Monday?
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Options:

1H
2.]

3.K
4.1

5. None of these
Answer: L

Direction:
Read the infor mation car efully and answer the questions:

Seven persons H, J, K, L, M, N and O have weekly off on different days of the week starting from Sunday to

Saturday in such a way that only one person has holiday only on one day but not necessary in the same order.

K neither have off just after nor just before H. L neither has weekly off on the first nor on the last day of the week.
Equal number of persons are having off before and after H. No one have off before M. Number of persons having off

between M and K is same as between N and L. K does not have off before J. O does not have weekly off before J.

Question No. 12
Who has weekly off immediate after J?
Options:

1H
2.N
3L
4. K

5. None of these
Answer : H

Direction:
Read the information carefully and answer the questions:

Seven persons H, J, K, L, M, N and O have weekly off on different days of the week starting from Sunday to

Saturday in such a way that only one person has holiday only on one day but not necessary in the same order.
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K neither have off just after nor just before H. L neither has weekly off on the first nor on the last day of the week.
Equal number of persons are having off before and after H. No one have off before M. Number of persons having off

between M and K is same as between N and L. K does not have off before J. O does not have weekly off before J.
Question No. 13
How many persons has off after J?

Options:

1. Four
2.0ne
3. Two
4. Three

5.None
Answer : Four

Direction:
Read the information carefully and answer the questions:

Seven persons H, J, K, L, M, N and O have weekly off on different days of the week starting from Sunday to

Saturday in such a way that only one person has holiday only on one day but not necessary in the same order.

K neither have off just after nor just before H. L neither has weekly off on the first nor on the last day of the week.
Equal number of persons are having off before and after H. No one have off before M. Number of persons having off
between M and K is same as between N and L. K does not have off before J. O does not have weekly off before J.
Question No. 14

In a certain way, M is related to Tuesday and H is related to Friday, then J is related to whom?

Options:

1. Thursday
2. Monday

3. Sunday
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4. Saturday

5. None of these
Answer : Thursday

Direction:

Study the following information car efully and answer the questions given below:

Eight people A, B, C, D, E, F, G and H are sitting in a circle facing the centre. All of them belong to different states viz
— UP, Goa, Tamil Nadu, Sikkim, Punjab, J and K, Manipur and Gujarat. They are not necessarily seated in the

mentioned order.

Two persons sit between E and the one who belongs to Sikkim. The person who belongs to Gujarat sits adjacent to
the one who belongs to Sikkim. B belongs to Tamil Nadu. A belongs to UP and sits opposite to E. D sits opposite to
the one who belongs to Punjab. H belongs to Manipur and sits second to the right of the one who belongs to
Sikkim. E belongs to Goa. C belongs to Punjab. C is an immediate neighbour of the person who belongs to Jand K. G

sits third to the right of B. D belongs to Sikkim.

Question No. 15
Who amongst the following belongs to ‘J and K'?
Options:

1.D
2.H
3.F
4.C

5. None of these
Answer: F

Direction:

Study the following information carefully and answer the questions given below:

Eight people A, B, C, D, E, F, G and H are sitting in a circle facing the centre. All of them belong to different states viz
— UP, Goa, Tamil Nadu, Sikkim, Punjab, J and K, Manipur and Gujarat. They are not necessarily seated in the

mentioned order.
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Two persons sit between E and the one who belongs to Sikkim. The person who belongs to Gujarat sits adjacent to
the one who belongs to Sikkim. B belongs to Tamil Nadu. A belongs to UP and sits opposite to E. D sits opposite to
the one who belongs to Punjab. H belongs to Manipur and sits second to the right of the one who belongs to
Sikkim. E belongs to Goa. C belongs to Punjab. C is an immediate neighbour of the person who belongs to J and K. G

sits third to the right of B. D belongs to Sikkim.

e Question No. 16
What is F’s position with respect to D?
Options:

1. Second to the right
2. Third to the right
3. Third to the left

4. Second to the left

5. Fourth to the right
Answer : Third to the left

Direction:

Study the following information carefully and answer the questions given below:

Eight people A, B, C, D, E, F, G and H are sitting in a circle facing the centre. All of them belong to different states viz
— UP, Goa, Tamil Nadu, Sikkim, Punjab, J and K, Manipur and Gujarat. They are not necessarily seated in the

mentioned order.

Two persons sit between E and the one who belongs to Sikkim. The person who belongs to Gujarat sits adjacent to
the one who belongs to Sikkim. B belongs to Tamil Nadu. A belongs to UP and sits opposite to E. D sits opposite to
the one who belongs to Punjab. H belongs to Manipur and sits second to the right of the one who belongs to
Sikkim. E belongs to Goa. C belongs to Punjab. C is an immediate neighbour of the person who belongs to Jand K. G

sits third to the right of B. D belongs to Sikkim.

e Question No. 17
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How many people are sitting between the one who belongs to Sikkim and E when counted in clockwise direction

from E?
Options:

1. Three
2. Two
3.None
4.0ne

5. Four
Answer : Two

Direction:

Study the following information carefully and answer the questions given below:

Eight people A, B, C, D, E, F, G and H are sitting in a circle facing the centre. All of them belong to different states viz
— UP, Goa, Tamil Nadu, Sikkim, Punjab, J and K, Manipur and Gujarat. They are not necessarily seated in the

mentioned order.

Two persons sit between E and the one who belongs to Sikkim. The person who belongs to Gujarat sits adjacent to
the one who belongs to Sikkim. B belongs to Tamil Nadu. A belongs to UP and sits opposite to E. D sits opposite to
the one who belongs to Punjab. H belongs to Manipur and sits second to the right of the one who belongs to
Sikkim. E belongs to Goa. C belongs to Punjab. C is an immediate neighbour of the person who belongs to Jand K. G

sits third to the right of B. D belongs to Sikkim.

Question No. 18

Four of the following five pairs are alike in a certain way based on their positions in the above arrangement and so

form a group. Which of the following does not belong to the group?
Options:

1. A- Sikkim
2. A- UP
3.C-Jand K

4.B- UP
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5. H- Goa
Answer : A- UP

Direction:

Study the following information carefully and answer the questions given below:

Eight people A, B, C, D, E, F, G and H are sitting in a circle facing the centre. All of them belong to different states viz
— UP, Goa, Tamil Nadu, Sikkim, Punjab, J and K, Manipur and Gujarat. They are not necessarily seated in the

mentioned order.

Two persons sit between E and the one who belongs to Sikkim. The person who belongs to Gujarat sits adjacent to
the one who belongs to Sikkim. B belongs to Tamil Nadu. A belongs to UP and sits opposite to E. D sits opposite to
the one who belongs to Punjab. H belongs to Manipur and sits second to the right of the one who belongs to
Sikkim. E belongs to Goa. C belongs to Punjab. C is an immediate neighbour of the person who belongs to J and K. G

sits third to the right of B. D belongs to Sikkim.
Question No. 19
Which one of the following statements is true according to the above mentioned arrangement?

Options:

1. The one who belongs to Goa sits opposite to E.

2. Eis to the immediate left of C.

3. B sits opposite to G.

4. E is to the immediate right of the one who belongs to Tamil Nadu.

5. None of these

Answer : E is to the immediate left of C.

Question No. 20

How many pairs of letters are there in the word IMMEDIATE’ which have as many letters between them in the

word (in both forward and backward directions) as they have between them in the English alphabetical series.

Options:
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1. Three

2.0ne

3. More than three
4.Two

5.None

Answer : Two

Question No. 21

2nd’ th _t

If it is possible to make a meaningful word, using the 47,5 h and 7th letters of the word ‘NAVIGATION’, then

which letter is third letter from left of the word thus formed? If no such word is formed, mark the answer as ‘X'. If

more than one word can be formed mark the answer as ‘Z".
Options:

1A
2.1
3.T
4. X

5.7
Answer : |

Direction:

In each of the questions, relationships between some elements ar e shown in the statements. These statementsare
followed by two conclusionsnumbered | and |1. Read the statements and give the Answer.

Question No. 22
Statements:
M<A<K=sV;LsK>Z
Conclusions:

LL=sV
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IL.Z<M
Options:

1. Only conclusion Il is true

2. Neither conclusion | nor conclusion Il is true
3. Only conclusion | is true

4. Either conclusion | or conclusion Il is true

5. Both conclusions | and Il are true
Answer : Only conclusion | is true

Direction:

In each of the questions, relationships between some elements are shown in the statements. These statementsare
followed by two conclusionsnumbered | and I1. Read the statements and give the Answer.

Question No. 23
Statements:
V=R>0=T=sU
Conclusions:

L T<V

.LU=R
Options:

1. Only conclusion Il is true

2. Neither conclusion I nor conclusion Il is true
3. Only conclusion | is true

4. Either conclusion | or conclusion Il is true

5. Both conclusions | and Il are true
Answer : Only conclusion | is true

Direction:

In each of the questions, relationships between some elements ar e shown in the statements. These statementsare
followed by two conclusionsnumbered | and |1. Read the statements and give the Answer.
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e Question No. 24
Statements:
X<N=P=D;N<K
Conclusions:
.K>D
Il.X<P
Options:

1. Only conclusion Il is true

2. Neither conclusion | nor conclusion Il is true
3. Only conclusion | is true

4. Either conclusion | or conclusion Il'is true

5. Both conclusions | and Il are true
Answer : Only conclusion Il is true

Direction:
Study the following information carefully and answer the questions given below:

A certain number of persons are sitting in a row facing north. The number of persons sitting between P and V is
same as between V and S. P and S are left to Q and not less than four persons sit between them. Eight persons are
sitting to the left of Q. W is immediate left to V. Two persons sit between T and R, who is third to the right of U.

Only one person sits between Q and U. Not more than ten sit between S and the one who is immediate right to T.
e Question No. 25
How many persons could sit in the row?

Options:

1.14

2.23
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3.18
4.15

5.20
Answer : 18

Direction:

Study the following information carefully and answer the questions given below:

A certain number of persons are sitting in a row facing north. The number of persons sitting between P and V is
same as between V and S. P and S are left to Q and not less than four persons sit between them. Eight persons are
sitting to the left of Q. W is immediate left to V. Two persons sit between T and R, who is third to the right of U.

Only one person sits between Q and U. Not more than ten sit between S and the one who is immediate right to T.

e Question No. 26
What is the position of ‘W’ with respect to ‘Q"?
Options:

1. Fifth to the right

2. Fourth to the right
3. Eighth to the right
4. Fourth to the left

5. Sixth to the left
Answer : Sixth to the left

Direction:

Study the following information car efully and answer the questions given below:

A certain number of persons are sitting in a row facing north. The number of persons sitting between P and V is
same as between V and S. P and S are left to Q and not less than four persons sit between them. Eight persons are
sitting to the left of Q. W is immediate left to V. Two persons sit between T and R, who is third to the right of U.

Only one person sits between Q and U. Not more than ten sit between S and the one who is immediate right to T.

e Question No. 27
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If ‘A" sits immediate right of ‘U’ then how many persons sit between ‘A" and 'S™?
Options:

1. Five
2. Six

3. Four
4.Three

5. None of these
Answer : Four

Direction:
Study the following information carefully and answer the questions given below:

A certain number of persons are sitting in a row facing north. The number of persons sitting between P and V is
same as between V and S. P and S are left to Q and not less than four persons sit between them. Eight persons are
sitting to the left of Q. W is immediate left to V. Two persons sit between T and R, who is third to the right of U.

Only one person sits between Q and U. Not more than ten sit between S and the one who is immediate right to T.

Question No. 28
Who among the following is fourth to the right of W?
Options:

1TW
2.P
3.Q
4.5

5.R
Answer: S

Direction:
Study the information carefully and answer the questions given below.

A person starts walking from A towards east direction to reach B, which is 18m east to A. He then takes a right turn

and walks 24 m to reach point C. From C, he takes left turn and walks20m to point D, then again, he takes a left turn
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and walks 12m to point E. From E, he takes a left turn and walks 24m to reach point F. He then takes a right turn and

walks 6m to reach G and finally takes a left turn to reach point H, which is 14m away from G.

e Question No. 29
In which direction is point B with respect to point F?
Options:

1. North
2. North-west
3. South-east
4. South

5. North-east
Answer : North-east

Direction:

Study the information carefully and answer the questions given below.

A person starts walking from A towards east direction to reach B, which is 18m east to A. He then takes a right turn
and walks 24 m to reach point C. From C, he takes left turn and walks20m to point D, then again, he takes a left turn
and walks 12m to point E. From E, he takes a left turn and walks 24m to reach point F. He then takes a right turn and

walks 6m to reach G and finally takes a left turn to reach point H, which is 14m away from G.
e Question No. 30
How far is point A from point H?

Options:

1.5m
2.6m
3.8m
4.4m

5.12m

Answer : 6m
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Direction:

Study the following digit-letter-symbol sequence car efully and answer the questions given below:

C%B

Question No. 31

How many such symbols are there in the above sequence, each of which is immediately followed by a perfect cube

of a number?
Options:

1.One
2.None
3. Four
4.Two

5. None of these
Answer : One

Direction:

Study the following digit-letter-symbol sequence car efully and answer the questions given below:
C%B

Question No. 32

Which of the following element is fifth to the left of sixteenth element from the left?

Options:

1.C
2.%
3.Z
4. #

5. None of these

Answer:Z
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Direction:
Study the following digit-letter-symbol sequence car efully and answer the questions given below:

C%B

e Question No. 33
If all the numbers are dropped in the given series, then which element will be at eight position from right end?
Options:

1.U
2.+
3.K
4. W

5. None of these
Answer : W

Direction:
Study the following digit-letter-symbol sequence car efully and answer the questions given below:

C%B

e Question No. 34

If the first fifteen elements in the above sequence are written in reverse order, then which of the following element

will be twenty-fourth from the right end?
Options:

1U
2.2
3.P
4.1

5. None of these

Answer: U
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Direction:

Study the following digit-letter-symbol sequence car efully and answer the questions given below:
C%B
Question No. 35

How many such numbers are there in the above sequence, each of which is immediately followed by a symbol and

immediately preceded by a number?
Options:

1. Two
2. Three
3.None
4. Four

5.0ne
Answer : None

Direction:
What will comein the place of question mark (?) in the following number series:

Question No. 36
n,?,16, 21, 29, 41
Options:

1.9

2.12
3.13
4.10

5. None of these
Answer : 13

Direction:
What will comein the place of question mark (?) in the following number series:



e Question No. 37

4,3,4,9,32,?

Options:

1.155
2.105
3.90
4.96

5. None of these

Answer : 155

Direction:
What will comein the place of question mark (?) in the following number series:

e Question No. 38

0, 6, 24, 60, ?, 210

Options:

1.150
2.10
3.130
4.120

5. None of these

Answer : 120

Direction:
What will comein the place of question mark (?) in the following number series:

e Question No. 39

1800, ?, 60, 15, 5, 2.5

ixam

0(6
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Options:

1.210

2.180
3.300
4.150

5. None of these
Answer : 300

Direction:
What will comein the place of question mark (?) in the following number series:

e Question No. 40
?,100, 150, 375, 1312.5
Options:

1.200
2.75
3.50
4.150

5. None of these

Answer : 200

e Question No. 41

Difference of the compound interest received in first year and second year at 30% per annum at Cl is Rs 1800 then

find the sum?
Options:

1.Rs 12,000
2.Rs 20,000

3.Rs 18,000
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4.Rs 15,000

5. None of these

Answer : Rs 20,000

e Question No. 42

Find the total distance covered by boat in each upstream and downstream in 6 hours if the speed of boat in still

water and speed of current is 24 km/h and 6 km/h respectively?
Options:

1.244 km
2.262 km
3.296 km
4.288 km

5. None of these

Answer : 288 km

e Question No. 43

Ratio of income of P to that of Q is 5:11. If expenditure of P is 5/8 th of his income and expenditure of Q is 4/9 th of

his income and sum of their saving is Rs 2875, then find the difference between their income?
Options:

1. Rs 1080
2.Rs 2160
3.Rs 1260
4.Rs 1820

5. None of these

Answer : Rs 2160

e Question No. 44
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Ankit alone can do a work in 24 days while Ankit and Ashish together can do that work in 15 days. Find the time

taken by Ajay alone to do that work if Ajay takes 6 days more than that of Ashish alone to do that work?
Options:

1. 66 days
2. 60 days
3. 54 days
4. 46 days

5. None of these

Answer : 46 days

e Question No. 45

Ratio of base and perpendicular side of a right-angled triangle is 3:4 and its base is equal to the side of a square

having area 144 cmz. Find the perimeter of the triangle?
Options:

1.48 cm
2.36 cm
3.42cm
4.56 cm

5. None of these
Answer: 48 cm

Direction:
What will comein place of (?) question mark in the following questions?

e Question No. 46
486 +? x 7392 + 66 = 1008
Options:

1.36



2.46
3.54
4. 64

5. None of these
Answer : 54

Direction:
What will comein place of (?) question mark in the following questions?

e Question No. 47
(0.05 x 6.25) + 2.5 ="?
Options:

1.1.25
2.0.125
3.0.0125
4.125

5. None of these
Answer : 0.125

Direction:
What will comein place of (?) question mark in the following questions?

e Question No. 48
1496 + 17 = ?% of 220
Options:

1.20
2.25
3.50
4. 40

5. None of these

ixam

0(6
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Answer : 40

Direction:
What will comein place of (?) question mark in the following questions?

e Question No. 49
(2/7) x (5/6) x (3/8) x ? = 90
Options:

1.1008
2.1320
3.680
4.916

5. None of these
Answer : 1008

Direction:
What will comein place of (?) question mark in the following questions?

e Question No. 50
. . _ V)
14(2/7)" % of 4200 + /576 = (?)
Options:

1.125
2.225
3.25
4.625

5. None of these
Answer : 625

Direction:

In each of these questions, two equations (1) and (11) are given.Y ou have to solve both the equations and give
answer

0(6
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e Question No. 51
.x>-13x+40=0
I.2y?-y-15=0
Options:

1Lifx>y
2.ifxzy
3ifx<y
4.ifx=sy

5.if x =y or no relation can be established between x and y.
Answer : if x &gt; y

Direction:

In each of these questions, two equations (1) and (1) are given.Y ou have to solve both the equations and give
answer

e Question No. 52
.5x2+17x+6=0
L2y2+1ly+12=0
Options:

Lifx>y
2.ifxzy
3.ifx<y
4.ifx=sy

5.if x =y or no relation can be established between x and y.
Answer : if x =y or no relation can be established between x and y.

Direction:

In each of these questions, two equations (1) and (11) are given.Y ou have to solve both the equations and give
answer

0(6
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e Question No. 53
.7x*-19x+10=0
I.8y2+2y-3=0
Options:

1Lifx>y
2.ifxzy
3ifx<y
4.ifx=sy

5.if x =y or no relation can be established between x and y.
Answer : if x &gt; y

Direction:

In each of these questions, two equations (1) and (1) are given.Y ou have to solve both the equations and give
answer

e Question No. 54
.x*-8x+15=0
ILy?-3y+2=0
Options:

Lifx>y
2.ifxzy
3.ifx<y
4.ifx=sy

5.if x =y or no relation can be established between x and y.
Answer : if x &gt; y

Direction:

In each of these questions, two equations (1) and (11) are given.Y ou have to solve both the equations and give
answer
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e Question No. 55

.3x2-7x+4=0

.2y -9y +10=0

Options:

Lifx>y
2.ifxzy
3ifx<y

4. ifx=sy

5.if x =y or no relation can be established between x and y.

Answer : if x &lt; y

Direction:

Study the bar chart given below and answer the following questions.

. 0D
mam.”
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Bar chart showsthe number of booksread by 4 different persons (P, Q, R & S) in 2015 and 2016.
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e Question No. 56

Find average number of books read by P, R & S in 2015.
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Options:
1. 64
2.81
3.72
4.54

5. None of these
Answer : 72

Direction:
Study the bar chart given below and answer the following questions.

Bar chart showsthe number of booksread by 4 different persons (P, Q, R & S) in 2015 and 2016.
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e Question No. 57

Find ratio of books read by Q & R together in 2015 to books read by P & S together in 2016.

Options:

1.50:63
2.33:40
3.30:55

4.77:80
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5. None of these
Answer : 77:80

Direction:
Study the bar chart given below and answer the following questions.

Bar chart showsthe number of booksread by 4 different persons (P, Q, R & S) in 2015 and 2016.

100
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e Question No. 58

Books read by P & S together in 2015 are approximately what percent more than books read by R in 2016?

Options:

1. 64%
2.77%
3.82%
4.59%

5. None of these
Answer : 77%

Direction:
Study the bar chart given below and answer the following questions.

Bar chart showsthe number of booksread by 4 different persons (P, Q, R & S) in 2015 and 2016.
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B 2015
H 2016

e Question No. 59

Books read by P & R together in 2015 are how much more or less than books read by Q & S together in 2016?
Options:

1.13%
2.7%
3.9%
4.18%

5. None of these
Answer : 9%

Direction:
Study the bar chart given below and answer the following questions.

Bar chart showsthe number of booksread by 4 different persons (P, Q, R & S) in 2015 and 2016.
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e Question No. 60

Books read by Q & R together in 2016 is approximately what percent of books read by Q in 2015?

Options:

1.242%
2.226%
3.214%
4.268%

5. None of these

Answer : 242%

Direction:
What will comein place of (?) question mark in the following questions?

e Question No. 61

35% of 150 x 16 = ? - 22

Options:

1.862



2.724
3.628
4.930

5. None of these
Answer : 862

Direction:
What will comein place of (?) question mark in the following questions?

e Question No. 62
(3080 + 6160) + ? = 330
Options:

1.22
2.36
3.28
4.14

5. None of these
Answer : 28

Direction:
What will comein place of (?) question mark in the following questions?

e Question No. 63
(36% of 180) + 0.4 =7
Options:

1.124
2.148
3.176
4.162

5. None of these

ixam
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Answer : 162

Direction:
What will comein place of (?) question mark in the following questions?

e Question No. 64

(17.28 + ?)/ (3.6 X 0.2) = 200

Options:

1.112

2.1.20
3.0.02
4.0.12

5. None of these

Answer : 0.12

Direction:
What will comein place of (?) question mark in the following questions?

e Question No. 65

0.08% of 55500 - 16.4 = ?

Options:

116

2.28
3.22
4.4

5. None of these

Answer : 28

e Question No. 66

ixam
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A person travels half of the distance at the speed of x km/h and remaining half of the distance at 4x km/h. Find the

value of ‘X’ if the average speed is 44.8 km/h?
Options:

1.23 km/hr
2.28 km/hr
3.26 km/hr
4.22 km/hr

5. None of these

Answer : 28 km/hr

e Question No. 67

P, Q and R invested in a ratio of 5: 6: 3 in a business. They got an annual profit of Rs. 55440. If P and R withdrew their
amount at the end of 3 months and 7 months respectively. Then find the difference between P and R’s share of

profit?
Options:

1.Rs 5,120

2.Rs 4,240
3.Rs 3,080
4.Rs 6,260

5. None of these

Answer : Rs 3,080

e Question No. 68

Retailer sold one article at 12.5% profit and another at 20% profit. Find his overall profit percentage if the selling

price of both the article is same?
Options:

1.12%
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2.16%
3.28%
4.24%

5. None of these

Answer : 16%

Question No. 69

A mixture has milk and water in the ratio 4: 1. When 50% of the mixture is taken out and replaced by 24 liters of

water then the ratio of milk to water in the mixture becomes 1: 1. Find initial quantity of mixture.
Options:

1.70 liters
2.90 liters
3.80 liters
4. 60 liters

5. None of these

Answer : 80 liters

Question No. 70

4 years ago, ratio of S’s age to D’s age was 2:3 and ratio of S’s age 4 years ago to D’s age 5 years hence is 8:15. Find

present age of S.
Options:

1. 24 years
2.28 years
3.32 years
4. 36 years

5. None of these
Answer : 28 years

Direction:
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Read the following passage and answer the following questions based on the given passage. Some of thewordsare
highlighted which would help you to answer some of the questions given.

For years, world-wide organisations have become increasingly excited about the prospect of a cloud-based future.
As the dream becomes an ever closer reality for many kinds of business and, Forrester predicted that enterprise
spending on cloud services is set to surge IDC also predicted that global spending on public cloud services and
infrastructure would reach $210bn in 2019, an increase of 24% from 2018. But one obstacle stands create friction and

introduce risk: the process of migration.

As all indications point to a massive shift in data deployments to the cloud, it is more important than ever that the
transition from on-premises to Cloud is as risk free as possible. In today's climate any loss or disruption to data can
have a huge business impact. It's a complex process, is frequently underestimated and many organisations have
found there’s lots that can go wrong that can impact the business. Organisations across the globe have found the
cloud to be an ideal place to run modern data applications due to big data’s elastic resource requirements.
Furthermore, with the lack of data talent an ever-looming issue for most companies today they have been

determined to adopt a cloud-first strategy to ensure business operations are accessible for a range of employees.

The cloud offers great promise for developers especially, as it can increase the speed at which they develop
software features and increase the resilience of applications once they are deployed - along with enhanced security
through the use of multiple server locations. With all this considered, it is no surprise that 42% of UK businesses

leverage some kind of cloud service, according to Eurostat.

However, all the perceived benefits of leveraging the cloud are redundant if organisations come up against barriers
to accessing cloud services. Cloud-based data pipelines still suffer from complexity challenges at the moment,
along with the lack of visibility into cost and resource usage at the application and user level. The answer to this is
automation fueled by robust Machine learning training models and artificial intelligence. These concepts and the
tools that enable them can determine the prerequisites of cloud infrastructure, application dependencies, the

appropriate target cloud instance profiles, and provide troubleshooting in real-time

To summarise, the promise of the cloud has created a sense of excitement amongst enterprises, however, they
have proceeded to go full steam ahead into adopting a cloud service, without sufficient data toensure
performance service level agreements (SLAS).

Question No. 71

How can we tackle the risks associated with the process of migration?
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Options:

1. By ensuring that organisations only migrate the apps to the cloud that will thrive in the cloud.
2. The surge in the investment in the cloud technology.

3. The use of predictive power of Artificial Intelligence.

4. The transition from on-premises to Cloud

5. None of these
Answer : The use of predictive power of Artificial Intelligence.

Direction:

Read the following passage and answer the following questions based on the given passage. Some of thewordsare
highlighted which would help you to answer some of the questions given.

For years, world-wide organisations have become increasingly excited about the prospect of a cloud-based future.
As the dream becomes an ever closer reality for many kinds of business and, Forrester predicted that enterprise
spending on cloud services is set to surge IDC also predicted that global spending on public cloud services and
infrastructure would reach $210bn in 2019, an increase of 24% from 2018. But one obstacle stands create friction and

introduce risk: the process of migration.

As all indications point to a massive shift in data deployments to the cloud, it is more important than ever that the
transition from on-premises to Cloud is as risk free as possible. In today's climate any loss or disruption to data can
have a huge business impact. It's a complex process, is frequently underestimated and many organisations have
found there’s lots that can go wrong that can impact the business. Organisations across the globe have found the
cloud to be an ideal place to run modern data applications due to big data’s elastic resource requirements.
Furthermore, with the lack of data talent an ever-looming issue for most companies today they have been

determined to adopt a cloud-first strategy to ensure business operations are accessible for a range of employees.

The cloud offers great promise for developers especially, as it can increase the speed at which they develop
software features and increase the resilience of applications once they are deployed - along with enhanced security
through the use of multiple server locations. With all this considered, it is no surprise that 42% of UK businesses

leverage some kind of cloud service, according to Eurostat.

However, all the perceived benefits of leveraging the cloud are redundant if organisations come up against barriers
to accessing cloud services. Cloud-based data pipelines still suffer from complexity challenges at the moment,
along with the lack of visibility into cost and resource usage at the application and user level. The answer to this is

automation fueled by robust Machine learning training models and artificial intelligence. These concepts and the
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tools that enable them can determine the prerequisites of cloud infrastructure, application dependencies, the

appropriate target cloud instance profiles, and provide troubleshooting in real-time

To summarise, the promise of the cloud has created a sense of excitement amongst enterprises, however, they
have proceeded to go full steam ahead into adopting a cloud service, without sufficient data toensure

performance service level agreements (SLAS).

Question No. 72
Why the promise of the cloud has created a sense of excitement amongst enterprises?
Options:

1. As it ensures that business operations are accessible for a range of employees.
2. As the enterprise spending on cloud services is surging.

3. Reduction in the cost of operation it may entail.

4. The secure platform it provides to the data it stores.

5. None of these
Answer : As it ensures that business operations are accessible for a range of employees.

Direction:

Read the following passage and answer the following questions based on the given passage. Some of thewordsare
highlighted which would help you to answer some of the questions given.

For years, world-wide organisations have become increasingly excited about the prospect of a cloud-based future.
As the dream becomes an ever closer reality for many kinds of business and, Forrester predicted that enterprise
spending on cloud services is set to surge IDC also predicted that global spending on public cloud services and
infrastructure would reach $210bn in 2019, an increase of 24% from 2018. But one obstacle stands create friction and

introduce risk: the process of migration.

As all indications point to a massive shift in data deployments to the cloud, it is more important than ever that the
transition from on-premises to Cloud is as risk free as possible. In today's climate any loss or disruption to data can
have a huge business impact. It's a complex process, is frequently underestimated and many organisations have
found there’s lots that can go wrong that can impact the business. Organisations across the globe have found the
cloud to be an ideal place to run modern data applications due to big data’s elastic resource requirements.

Furthermore, with the lack of data talent an ever-looming issue for most companies today they have been
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determined to adopt a cloud-first strategy to ensure business operations are accessible for a range of employees.

The cloud offers great promise for developers especially, as it can increase the speed at which they develop
software features and increase the resilience of applications once they are deployed - along with enhanced security
through the use of multiple server locations. With all this considered, it is no surprise that 42% of UK businesses

leverage some kind of cloud service, according to Eurostat.

However, all the perceived benefits of leveraging the cloud are redundant if organisations come up against barriers
to accessing cloud services. Cloud-based data pipelines still suffer from complexity challenges at the moment,
along with the lack of visibility into cost and resource usage at the application and user level. The answer to this is
automation fueled by robust Machine learning training models and artificial intelligence. These concepts and the
tools that enable them can determine the prerequisites of cloud infrastructure, application dependencies, the

appropriate target cloud instance profiles, and provide troubleshooting in real-time

To summarise, the promise of the cloud has created a sense of excitement amongst enterprises, however, they
have proceeded to go full steam ahead into adopting a cloud service, without sufficient data toensure

performance service level agreements (SLAs).

Question No. 73
How the process of migration stands as an obstacle to the cloud technology?
Options:

1. The expensive cost of providing safety to the data.

2. The lack of sound technology in Artificial Intelligence.

3. Complexities of the data migrated to the cloud

4. It exposes the companies to the risk of losing important information.

5. None of these
Answer : It exposes the companies to the risk of losing important information.

Direction:

Read the following passage and answer the following questions based on the given passage. Some of thewordsare
highlighted which would help you to answer some of the questions given.

For years, world-wide organisations have become increasingly excited about the prospect of a cloud-based future.

As the dream becomes an ever closer reality for many kinds of business and, Forrester predicted that enterprise
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spending on cloud services is set to surge IDC also predicted that global spending on public cloud services and
infrastructure would reach $210bn in 2019, an increase of 24% from 2018. But one obstacle stands create friction and

introduce risk: the process of migration.

As all indications point to a massive shift in data deployments to the cloud, it is more important than ever that the
transition from on-premises to Cloud is as risk free as possible. In today's climate any loss or disruption to data can
have a huge business impact. It's a complex process, is frequently underestimated and many organisations have
found there’s lots that can go wrong that can impact the business. Organisations across the globe have found the
cloud to be an ideal place to run modern data applications due to big data’s elastic resource requirements.
Furthermore, with the lack of data talent an ever-looming issue for most companies today they have been

determined to adopt a cloud-first strategy to ensure business operations are accessible for a range of employees.

The cloud offers great promise for developers especially, as it can increase the speed at which they develop
software features and increase the resilience of applications once they are deployed - along with enhanced security
through the use of multiple server locations. With all this considered, it is no surprise that 42% of UK businesses

leverage some kind of cloud service, according to Eurostat.

However, all the perceived benefits of leveraging the cloud are redundant if organisations come up against barriers
to accessing cloud services. Cloud-based data pipelines still suffer from complexity challenges at the moment,
along with the lack of visibility into cost and resource usage at the application and user level. The answer to this is
automation fueled by robust Machine learning training models and artificial intelligence. These concepts and the
tools that enable them can determine the prerequisites of cloud infrastructure, application dependencies, the

appropriate target cloud instance profiles, and provide troubleshooting in real-time

To summarise, the promise of the cloud has created a sense of excitement amongst enterprises, however, they
have proceeded to go full steam ahead into adopting a cloud service, without sufficient data toensure
performance service level agreements (SLASs).

Question No. 74

Which of the following statement(s) is/are correct in context of the passage?

(1) The cloud technology can help in increasing the speed at which the software features are developed.

(2) There is no risk associated with the cloud technology.
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(3) Cloud technology is not a very complex process.
Options:

1.0nly (2)
2.Both (1) and (2)
3.0nly (3)
4. Only (1)

5. All are correct
Answer : Only (1)

Direction:

Read the following passage and answer the following questions based on the given passage. Some of thewordsare
highlighted which would help you to answer some of the questions given.

For years, world-wide organisations have become increasingly excited about the prospect of a cloud-based future.
As the dream becomes an ever closer reality for many kinds of business and, Forrester predicted that enterprise
spending on cloud services is set to surge IDC also predicted that global spending on public cloud services and
infrastructure would reach $210bn in 2019, an increase of 24% from 2018. But one obstacle stands create friction and

introduce risk: the process of migration.

As all indications point to a massive shift in data deployments to the cloud, it is more important than ever that the
transition from on-premises to Cloud is as risk free as possible. In today's climate any loss or disruption to data can
have a huge business impact. It's a complex process, is frequently underestimated and many organisations have
found there’s lots that can go wrong that can impact the business. Organisations across the globe have found the
cloud to be an ideal place to run modern data applications due to big data’s elastic resource requirements.
Furthermore, with the lack of data talent an ever-looming issue for most companies today they have been

determined to adopt a cloud-first strategy to ensure business operations are accessible for a range of employees.

The cloud offers great promise for developers especially, as it can increase the speed at which they develop
software features and increase the resilience of applications once they are deployed - along with enhanced security
through the use of multiple server locations. With all this considered, it is no surprise that 42% of UK businesses

leverage some kind of cloud service, according to Eurostat.

However, all the perceived benefits of leveraging the cloud are redundant if organisations come up against barriers

to accessing cloud services. Cloud-based data pipelines still suffer from complexity challenges at the moment,
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along with the lack of visibility into cost and resource usage at the application and user level. The answer to this is
automation fueled by robust Machine learning training models and artificial intelligence. These concepts and the
tools that enable them can determine the prerequisites of cloud infrastructure, application dependencies, the

appropriate target cloud instance profiles, and provide troubleshooting in real-time

To summarise, the promise of the cloud has created a sense of excitement amongst enterprises, however, they
have proceeded to go full steam ahead into adopting a cloud service, without sufficient data toensure

performance service level agreements (SLAS).

Question No. 75
What is the meaning of the phrase “full steam ahead” ?
Options:

1. Interrupting an activity
2. Acting cautiously

3. Progressing quickly

4. Great increase

5. Prudent progression
Answer : Progressing quickly

Direction:

Read the following passage and answer the following questions based on the given passage. Some of thewordsare
highlighted which would help you to answer some of the questions given.

For years, world-wide organisations have become increasingly excited about the prospect of a cloud-based future.
As the dream becomes an ever closer reality for many kinds of business and, Forrester predicted that enterprise
spending on cloud services is set to surge IDC also predicted that global spending on public cloud services and
infrastructure would reach $210bn in 2019, an increase of 24% from 2018. But one obstacle stands create friction and

introduce risk: the process of migration.

As all indications point to a massive shift in data deployments to the cloud, it is more important than ever that the
transition from on-premises to Cloud is as risk free as possible. In today's climate any loss or disruption to data can
have a huge business impact. It's a complex process, is frequently underestimated and many organisations have

found there’s lots that can go wrong that can impact the business. Organisations across the globe have found the
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cloud to be an ideal place to run modern data applications due to big data’s elastic resource requirements.
Furthermore, with the lack of data talent an ever-looming issue for most companies today they have been

determined to adopt a cloud-first strategy to ensure business operations are accessible for a range of employees.

The cloud offers great promise for developers especially, as it can increase the speed at which they develop
software features and increase the resilience of applications once they are deployed - along with enhanced security
through the use of multiple server locations. With all this considered, it is no surprise that 42% of UK businesses

leverage some kind of cloud service, according to Eurostat.

However, all the perceived benefits of leveraging the cloud are redundant if organisations come up against barriers
to accessing cloud services. Cloud-based data pipelines still suffer from complexity challenges at the moment,
along with the lack of visibility into cost and resource usage at the application and user level. The answer to this is
automation fueled by robust Machine learning training models and artificial intelligence. These concepts and the
tools that enable them can determine the prerequisites of cloud infrastructure, application dependencies, the

appropriate target cloud instance profiles, and provide troubleshooting in real-time

To summarise, the promise of the cloud has created a sense of excitement amongst enterprises, however, they
have proceeded to go full steam ahead into adopting a cloud service, without sufficient data toensure

performance service level agreements (SLAs).
Question No. 76
Which of the following words is most similar to the word “ADOPT” as given in the passage?

Options:

1. Mold

2. Deduce
3.Embrace
4. Creative

5. Fluster
Answer : Embrace

Direction:

Read the following passage and answer the following questions based on the given passage. Some of thewordsare
highlighted which would help you to answer some of the questions given.
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For years, world-wide organisations have become increasingly excited about the prospect of a cloud-based future.
As the dream becomes an ever closer reality for many kinds of business and, Forrester predicted that enterprise
spending on cloud services is set to surge IDC also predicted that global spending on public cloud services and
infrastructure would reach $210bn in 2019, an increase of 24% from 2018. But one obstacle stands create friction and

introduce risk: the process of migration.

As all indications point to a massive shift in data deployments to the cloud, it is more important than ever that the
transition from on-premises to Cloud is as risk free as possible. In today's climate any loss or disruption to data can
have a huge business impact. It's a complex process, is frequently underestimated and many organisations have
found there’s lots that can go wrong that can impact the business. Organisations across the globe have found the
cloud to be an ideal place to run modern data applications due to big data’s elastic resource requirements.
Furthermore, with the lack of data talent an ever-looming issue for most companies today they have been

determined to adopt a cloud-first strategy to ensure business operations are accessible for a range of employees.

The cloud offers great promise for developers especially, as it can increase the speed at which they develop
software features and increase the resilience of applications once they are deployed - along with enhanced security
through the use of multiple server locations. With all this considered, it is no surprise that 42% of UK businesses

leverage some kind of cloud service, according to Eurostat.

However, all the perceived benefits of leveraging the cloud are redundant if organisations come up against barriers
to accessing cloud services. Cloud-based data pipelines still suffer from complexity challenges at the moment,
along with the lack of visibility into cost and resource usage at the application and user level. The answer to this is
automation fueled by robust Machine learning training models and artificial intelligence. These concepts and the
tools that enable them can determine the prerequisites of cloud infrastructure, application dependencies, the

appropriate target cloud instance profiles, and provide troubleshooting in real-time

To summarise, the promise of the cloud has created a sense of excitement amongst enterprises, however, they
have proceeded to go full steam ahead into adopting a cloud service, without sufficient data toensure
performance service level agreements (SLAS).

Question No. 77

Which of the following words is most similar to the word “ENSURE” as given in the passage?

Options:
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1. Confirm

2. Paced

3. Redundant
4. Weaken

5. Reject
Answer : Confirm

Direction:

Read the following passage and answer the following questions based on the given passage. Some of thewordsare
highlighted which would help you to answer some of the questions given.

For years, world-wide organisations have become increasingly excited about the prospect of a cloud-based future.
As the dream becomes an ever closer reality for many kinds of business and, Forrester predicted that enterprise
spending on cloud services is set to surge IDC also predicted that global spending on public cloud services and
infrastructure would reach $210bn in 2019, an increase of 24% from 2018. But one obstacle stands create friction and

introduce risk: the process of migration.

As all indications point to a massive shift in data deployments to the cloud, it is more important than ever that the
transition from on-premises to Cloud is as risk free as possible. In today's climate any loss or disruption to data can
have a huge business impact. It's a complex process, is frequently underestimated and many organisations have
found there’s lots that can go wrong that can impact the business. Organisations across the globe have found the
cloud to be an ideal place to run modern data applications due to big data’s elastic resource requirements.
Furthermore, with the lack of data talent an ever-looming issue for most companies today they have been

determined to adopt a cloud-first strategy to ensure business operations are accessible for a range of employees.

The cloud offers great promise for developers especially, as it can increase the speed at which they develop
software features and increase the resilience of applications once they are deployed - along with enhanced security
through the use of multiple server locations. With all this considered, it is no surprise that 42% of UK businesses

leverage some kind of cloud service, according to Eurostat.

However, all the perceived benefits of leveraging the cloud are redundant if organisations come up against barriers
to accessing cloud services. Cloud-based data pipelines still suffer from complexity challenges at the moment,
along with the lack of visibility into cost and resource usage at the application and user level. The answer to this is
automation fueled by robust Machine learning training models and artificial intelligence. These concepts and the

tools that enable them can determine the prerequisites of cloud infrastructure, application dependencies, the
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appropriate target cloud instance profiles, and provide troubleshooting in real-time

To summarise, the promise of the cloud has created a sense of excitement amongst enterprises, however, they
have proceeded to go full steam ahead into adopting a cloud service, without sufficient data toensure

performance service level agreements (SLAS).

e Question No. 78

Which of the following words is most OPPOSITE to the word “MASSIVE” as given in the passage?
Options:

1. Prominent
2. Insignificant
3. Enlarged

4. Filthy

5. Vouch
Answer : Insignificant

Direction:

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an
error and select the appropriate option. If a sentenceisfreefrom error, select '"No Error'.

e Question No. 79

While discretion and quiet negotiations are useful, (A) / such divergence in public statements also fuels (B) /

speculation that something deeper (C) / and more troubling exist on the ground. (D) / No error. (E)
Options:

1A
2.B
3.C
4.D

5.E

Answer : D
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Direction:

In the following question, some part of the sentence may have errors. Find out which part of the sentence hasan
error and select the appropriate option. If a sentenceisfreefrom error, select '"No Error'.

e Question No. 80

With a coastline that extends (A) / over 3000 kilometers, the country (B) / is quiet a revelation, especially in (C) /

comparison to its Middle Eastern neighbours. (D) / No error. (E)
Options:

1A
2.B
3.C
4.D

5.E
Answer : C

Direction:

In the following question, some part of the sentence may have errors. Find out which part of the sentence hasan
error and select the appropriate option. If a sentenceisfreefrom error, select 'No Error'.

e Question No. 81

This is bound to raise eyebrows (A) / given that the boundary with the neighboring country(B) / has seen heavy

shelling and risen (C) / military and civilian casualties in the past year. (D) / No error (E)
Options:

1A
2.B
3.C

4.D
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5.E
Answer: C

Direction:

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an
error and select the appropriate option. If a sentenceisfreefrom error, select '"No Error'.

Question No. 82

Middle Eastern mythology says that (A) / Sinbad the Sailor was born from Oman and he (B) / set sail on his

legendary voyages from (C) / Sohar, a maritime port in the northern part of the country. (D) / No error. (E)

Options:

1A
2.B
3.C
4.D

b=k
Answer: B

Direction:

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an
error and select the appropriate option. If a sentenceisfreefrom error, select 'No Error'.

Question No. 83

The porch garden with its vibrant flowering (A) / plants growing out of broken-rimmed pots on rock (B) / shelves,

and green vines clambering on textured (C) / walls, threw open memories of past footfalls. (D) / No error. (E)
Options:

1A

2.B
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3.C
4.E

5.D
Answer: E

Direction:

In the following question, some part of the sentence may have errors. Find out which part of the sentence hasan
error and select the appropriate option. If a sentenceisfreefrom error, select 'No Error'.

Question No. 84

The dust risen like (A) / billowing clouds as the (B) / cab pulled up around (C) / the corner of 5th A Cross. (D) / No

error (E)
Options:

1A
2.B
3.C
4.D

5.E
Answer: A

Direction:

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an
error and select the appropriate option. If a sentenceisfreefrom error, select '"No Error'.

Question No. 85

The court has reiterated that the (A) / grant of a certificate by the (B) / CBFC denudes the state of the power (C) /

to prevent the exhibit of a film. (D) / No error (E)
Options:

1A
2.B

3.C
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4.D

5.E
Answer: D

Direction:
In the following question, sentence given with blank to be filled in with an appropriate word(s). Four alternatives
are suggested for the question. Choose the correct alternative out of the four and indicate it by selecting the

appropriate option.

Question No. 86

The senior player’s father wants the kids of the region to get the same and opportunities his son enjoyed.

Options:

1. logics

2. hindrances
3. benefits

4. speed

5. None of these
Answer : benefits

Direction:
In the following question, sentence given with blank to be filled in with an appropriate word(s). Four alternatives
are suggested for the question. Choose the correct alternative out of the four and indicate it by selecting the

appropriate option.

Question No. 87

He is of his responsibilities not only as a father to son, but also as a father figure to the kids in the

region.
Options:

1. aware
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2. lack
3. due
4. leader

5. None of these
Answer : aware

Direction:
In the following question, sentence given with blank to be filled in with an appropriate word(s). Four alternatives
are suggested for the question. Choose the correct alternative out of the four and indicate it by selecting the

appropriate option.

Question No. 88

A higher opening in the domestic equity market with key indices soaring to new highs, influenced the

Options:

1. trend

2. uptrend
3.trench
4. trencher

5. None of these
Answer : uptrend

Direction:
In the following question, sentence given with blank to be filled in with an appropriate word(s). Four alternatives
are suggested for the question. Choose the correct alternative out of the four and indicate it by selecting the

appropriate option.

Question No. 89

Hardening of interest rates in the US leads to flight of foreign capital from markets due to better

yields.
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Options:

1. emerging
2. holding
3. tired

4. gross

5. None of these
Answer : emerging

Direction:
In the following question, sentence given with blank to be filled in with an appropriate word(s). Four alternatives
are suggested for the question. Choose the correct alternative out of the four and indicate it by selecting the

appropriate option.

e Question No. 90

Increased of the American currency by exporters and banks amid a higher opening in the domestic

equity market lifted the domestic currency.
Options:

1. joining
2.crude
3. selling
4. board

5. None of these
Answer : selling

Direction:

In each question below five words have been printed in bold, of which one word may be wrongly spelled or
inappropriatein the context of the sentence. Mark that word asthe answer.

e Question No. 91
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With raising greenhouse gases, theirimpact can only intensify. Heatwaves may become more frequent; good

action plans can help prepare for the wor st.
Options:

1. raising

2. impact
3. intensify
4. frequent

5. worst
Answer : raising

Direction:

In these questions, sentences with four bold words are given. One from four words given in the bold may be either
wrongly spelt or inappropriate in the context of the sentence. Find out the word which is wrongly spelt or
inappropriate, if any. That word will be your answer. If all words given in the bold are correctly spelt and also

appropriate in the context of the sentence, then ‘All Correct’is your answer.

Question No. 92
Villagers killed two people transporting cattle in the state less then two weeks ago.
Options:

1. killed
2. people
3.in

4. then

5. All correct
Answer : then

Direction:
In each question below, four words are printed in bold type. One of these words given in bold may be either
wrongly spelt or inappropriate in the context of the sentence. Find out the word that is inappropriate or wrongly

spelt, if there is any. That word is your answer. If the sentence is correct as it is and * No correction is required’,
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mark 5) as the answer.

e Question No. 93
The moremoney the governments pored into it, the harder it was to walk away.
Options:

1. more
2. pored
3. harder
4. walk

5. No correction required
Answer : pored

Direction:

In each question below, four words are printed in bold type. One of these words given in bold may be either
wrongly spelt or inappropriate in the context of the sentence. Find out the word that is inappropriate or wrongly
spelt, if there is any. That word is your answer. If the sentence is correct as it is and * No correction is required’,

mark 5) as the answer.
e Question No. 94
Result of the test is expected to be out sometimes next month

Options:

1. of

2. expected
3. sometimes
4. next

5. No correction required
Answer : sometimes

Direction:
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In each question below, four words are printed in bold type. One of these words given in bold may be either
wrongly spelt or inappropriate in the context of the sentence. Find out the word that is inappropriate or wrongly
spelt, if there is any. That word is your answer. If the sentence is correct as it is and * No correction is required’,

mark 5) as the answer.
e Question No. 95
The political retoric of foreign aggression is backed up by very brisk policing at home.

Options:

1. retoric

2. aggression
3. backed

4. brisk

5. No correction required
Answer : retoric

Direction:

Given sentencesarenot in their exact position. Rearrange them to make a coherent paragraph and then answer the
guestions given below.

A. It can even make exercise more fun and productive.
B. Plus, hearing others laugh, even for no apparent reason, can often trigger genuine laughter.

C. To add simulated laughter into your own life, search for laugh yoga or laugh therapy groups. Or you can start

simply by laughing at other people’s jokes, even if you don't find them funny.

D. A Georgia State University study found that incorporating bouts of simulated laughter into an exercise program

helped improve older adults’ mental health as well as their aerobic endurance.

E. Believe it or not, it’s possible to laugh without experiencing a funny event—and simulated laughter can be just as

beneficial as the real thing.

e Question No. 96
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Which of the following should be the FOURTH sentence after the rearrangement?
Options:

1A
2.B
3.C
4.D

5.E
Answer: B

Direction:

Given sentencesarenot in their exact position. Rearrange them to make a coherent paragraph and then answer the
guestions given below.

A. It can even make exercise more fun and productive.
B. Plus, hearing others laugh, even for no apparent reason, can often trigger genuine laughter.

C. To add simulated laughter into your own life, search for laugh yoga or laugh therapy groups. Or you can start

simply by laughing at other people’s jokes, even if you don't find them funny.

D. A Georgia State University study found that incorporating bouts of simulated laughter into an exercise program

helped improve older adults” mental health as well as their aerobic endurance.

E. Believe it or not, it’s possible to laugh without experiencing a funny event—and simulated laughter can be just as
beneficial as the real thing.

Question No. 97

Which of the following should be the SECOND sentence after the rearrangement?

Options:

1A
2.B
3.C

4.D
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5.E
Answer: A

Direction:

Given sentencesarenot in their exact position. Rearrange them to make a coherent paragraph and then answer the
guestions given below.

A. It can even make exercise more fun and productive.
B. Plus, hearing others laugh, even for no apparent reason, can often trigger genuine laughter.

C. To add simulated laughter into your own life, search for laugh yoga or laugh therapy groups. Or you can start

simply by laughing at other people’s jokes, even if you don't find them funny.

D. A Georgia State University study found that incorporating bouts of simulated laughter into an exercise program

helped improve older adults’ mental health as well as their aerobic endurance.

E. Believe it or not, it’s possible to laugh without experiencing a funny event—and simulated laughter can be just as

beneficial as the real thing.

Question No. 98
Which of the following should be the THIRD sentence after the rearrangement?
Options:

1A
2.B
3.C
4.D

5.E
Answer : D

Direction:

Given sentencesarenot in their exact position. Rearrange them to make a coherent paragraph and then answer the
guestions given below.

A. It can even make exercise more fun and productive.
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B. Plus, hearing others laugh, even for no apparent reason, can often trigger genuine laughter.

C. To add simulated laughter into your own life, search for laugh yoga or laugh therapy groups. Or you can start

simply by laughing at other people’s jokes, even if you don't find them funny.

D. A Georgia State University study found that incorporating bouts of simulated laughter into an exercise program

helped improve older adults’ mental health as well as their aerobic endurance.

E. Believe it or not, it’s possible to laugh without experiencing a funny event—and simulated laughter can be just as
beneficial as the real thing.

Question No. 99

Which of the following should be the FIRST sentence after the rearrangement?

Options:

1A
2.B
3.C
4.D

5.E
Answer: E

Direction:

Given sentences are not in their exact position. Rearrange them to make a coherent paragraph and then answer the
guestions given below.

A. It can even make exercise more fun and productive.
B. Plus, hearing others laugh, even for no apparent reason, can often trigger genuine laughter.

C. To add simulated laughter into your own life, search for laugh yoga or laugh therapy groups. Or you can start

simply by laughing at other people’s jokes, even if you don't find them funny.

D. A Georgia State University study found that incorporating bouts of simulated laughter into an exercise program

helped improve older adults’ mental health as well as their aerobic endurance.
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E. Believe it or not, it’s possible to laugh without experiencing a funny event—and simulated laughter can be just as

beneficial as the real thing.

e Question No. 100

Which of the following should be the FIFTH sentence after the rearrangement?
Options:

1A
2.B
3.C
4.D

5.E

Answer: C

Attempt Mock Test Now
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